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Kekwla Ubungshlitter: Grundrechenarten

42 + 18 = 3 x 10 = o x 7 =
20 : 5 = 6 - 0 = 4 - 3 =
3 - 1= 42 : 6 = 69 + 10 =
10 x 3 = 59 + 25 = 21 7 =
98 1 = 73 - 26 = 35 - 31 =
o + 3 = 5 - 1 = 9 - 72 =
6 - 72 = 48 + 24 = 2 + 79 =
40 : 5 = 3 x 5 = 100 : 10 =
4 + 48 = 81 : 9 = o - 0=
7 9 = 5 - 1 = 2 X =
65 + 2 = 7+ 1 = 10 + 63 =
25 ¢+ 5 = 1 4 = 6 x 3 =
13 - 5 = 20 : 10 = 5 ¢ 5 =
9 x 5 = 97 + 2 = 5 - 5 =
49 + 33 = 4 + 1 = 2 + 3 =
o + 7 = 1 8 = 49 7 =
8 : 8 = 62 + 34 = 48 + 3 =
6 x 5 = 56 - 30 = 100 - 93 =
7 1 = 5 x 4 = 9 x 8 =
35 - 30 = 41 - 40 = 2 - 5 =
47 - 43 = 48 + 11 = 4 - 0 =
24 - 20 = 1 -1 = 6 + 1 =
28 : 4 = 42 7 = 9% : 10 =
51 + 23 = 8 x 7 = 4 + 3 =
4 5 = 17 - 2 = 5 4 =

Kekuda: Die perfekte Mative-Ubungsapp five Grundscinider



